
X[0] <= 0.5
mse = 0.972

samples = 26322
value = -0.004

X[17] <= 0.5
mse = 0.669

samples = 20557
value = 0.272

True X[16] <= 0.5
mse = 0.82

samples = 5765
value = -0.984

False

X[21] <= -0.107
mse = 0.157

samples = 1142
value = -0.101

X[21] <= -0.037
mse = 0.69

samples = 19415
value = 0.293

X[2] <= 0.5
mse = 0.141

samples = 694
value = -0.05

X[1] <= 0.5
mse = 0.17

samples = 448
value = -0.179

X[21] <= -1.518
mse = 0.125

samples = 307
value = -0.116

X[21] <= -1.0
mse = 0.148

samples = 387
value = 0.002

mse = 0.0
samples = 1
value = 0.838

X[1] <= 0.5
mse = 0.12

samples = 306
value = -0.122

X[7] <= 0.5
mse = 0.179
samples = 34
value = -0.288

X[21] <= -1.491
mse = 0.109

samples = 272
value = -0.103

mse = 0.106
samples = 33
value = -0.23

mse = 0.0
samples = 1

value = -1.644

mse = 0.081
samples = 3

value = -0.492

mse = 0.107
samples = 269
value = -0.097

X[21] <= -1.497
mse = 0.143

samples = 179
value = 0.066

X[9] <= 0.5
mse = 0.147

samples = 208
value = -0.049

X[19] <= -1.507
mse = 0.126
samples = 24
value = -0.156

X[7] <= 0.5
mse = 0.136

samples = 155
value = 0.103

mse = 0.068
samples = 15
value = -0.024

mse = 0.151
samples = 9

value = -0.302

mse = 0.134
samples = 153
value = 0.088

mse = 0.001
samples = 2
value = 0.512

X[21] <= -0.275
mse = 0.142

samples = 165
value = -0.082

X[21] <= -0.958
mse = 0.143
samples = 43
value = 0.088

mse = 0.146
samples = 136
value = -0.11

mse = 0.102
samples = 29
value = 0.056

mse = 0.0
samples = 1

value = -0.856

mse = 0.118
samples = 42
value = 0.118

X[7] <= 0.5
mse = 0.179
samples = 22
value = -0.457

X[21] <= 0.106
mse = 0.166

samples = 426
value = -0.168

X[19] <= 2.13
mse = 0.148
samples = 21
value = -0.495

mse = -0.0
samples = 1
value = 0.519

X[21] <= 0.239
mse = 0.125
samples = 20
value = -0.461

mse = 0.0
samples = 1

value = -1.324

mse = 0.223
samples = 6

value = -0.692

mse = 0.072
samples = 14
value = -0.389

X[21] <= 0.033
mse = 0.167
samples = 66
value = -0.294

X[19] <= 0.502
mse = 0.163

samples = 360
value = -0.145

X[14] <= 0.5
mse = 0.163
samples = 45
value = -0.194

X[20] <= 0.5
mse = 0.128
samples = 21
value = -0.463

mse = 0.13
samples = 44
value = -0.16

mse = -0.0
samples = 1

value = -1.275

mse = 0.106
samples = 19
value = -0.502

mse = 0.0
samples = 2
value = 0.243

X[15] <= 0.5
mse = 0.108

samples = 119
value = -0.047

X[19] <= 1.956
mse = 0.182

samples = 241
value = -0.192

mse = 0.103
samples = 113
value = -0.072

mse = 0.049
samples = 6
value = 0.309

mse = 0.178
samples = 216
value = -0.172

mse = 0.183
samples = 25
value = -0.342

X[2] <= 0.5
mse = 0.46

samples = 10956
value = 0.355

X[21] <= 3.871
mse = 0.977

samples = 8459
value = 0.213

X[9] <= 0.5
mse = 0.459

samples = 5134
value = 0.309

X[5] <= 0.5
mse = 0.458

samples = 5822
value = 0.395

X[1] <= 0.5
mse = 0.353

samples = 4195
value = 0.329

X[20] <= 0.5
mse = 0.916

samples = 939
value = 0.22

X[5] <= 0.5
mse = 0.471

samples = 433
value = 0.196

X[14] <= 0.5
mse = 0.338

samples = 3762
value = 0.344

mse = 0.514
samples = 343
value = 0.141

mse = 0.233
samples = 90
value = 0.422

mse = 0.334
samples = 3710
value = 0.347

mse = 0.544
samples = 52
value = 0.147

X[19] <= -0.519
mse = 0.911

samples = 876
value = 0.196

X[11] <= 0.5
mse = 0.877
samples = 63
value = 0.532

mse = 0.974
samples = 563
value = 0.261

mse = 0.78
samples = 313
value = 0.082

mse = 0.233
samples = 44
value = 0.401

mse = 2.356
samples = 19
value = 0.865

X[9] <= 0.5
mse = 0.325

samples = 1980
value = 0.353

X[11] <= 0.5
mse = 0.525

samples = 3842
value = 0.417

X[10] <= 0.5
mse = 0.289

samples = 1520
value = 0.375

X[21] <= -0.69
mse = 0.444

samples = 460
value = 0.273

mse = 0.341
samples = 770
value = 0.336

mse = 0.235
samples = 750
value = 0.414

mse = 0.295
samples = 293
value = 0.359

mse = 0.657
samples = 167
value = 0.131

X[9] <= 0.5
mse = 0.36

samples = 2779
value = 0.397

X[21] <= -0.258
mse = 0.967

samples = 1063
value = 0.473

mse = 0.319
samples = 1964
value = 0.417

mse = 0.457
samples = 815
value = 0.348

mse = 0.289
samples = 888
value = 0.424

mse = 4.18
samples = 175
value = 0.714

X[16] <= 0.5
mse = 0.96

samples = 8457
value = 0.212

X[14] <= 0.5
mse = 22.678
samples = 2
value = 7.273

X[21] <= 1.351
mse = 0.648

samples = 8068
value = 0.193

X[29] <= 0.5
mse = 7.627

samples = 389
value = 0.619

X[1] <= 0.5
mse = 0.555

samples = 6568
value = 0.231

X[21] <= 2.48
mse = 1.03

samples = 1500
value = 0.024

mse = 0.668
samples = 337
value = 0.031

mse = 0.547
samples = 6231
value = 0.242

mse = 1.031
samples = 1380
value = 0.053

mse = 0.852
samples = 120
value = -0.357

X[19] <= 3.243
mse = 4.595

samples = 287
value = 0.281

X[18] <= 0.5
mse = 15.165
samples = 102
value = 1.607

mse = 4.29
samples = 286
value = 0.242

mse = 0.0
samples = 1
value = 8.662

mse = 19.078
samples = 65
value = 2.547

mse = 3.15
samples = 37
value = -0.145

mse = 0.0
samples = 1
value = 0.539

mse = 0.0
samples = 1

value = 10.641

X[1] <= 0.5
mse = 0.58

samples = 5079
value = -1.038

X[19] <= 0.193
mse = 2.397

samples = 686
value = -0.585

X[21] <= -1.335
mse = 0.379

samples = 361
value = -1.216

X[21] <= 1.157
mse = 0.592

samples = 4718
value = -1.026

X[18] <= 0.5
mse = 0.132
samples = 18
value = -1.516

X[21] <= -0.001
mse = 0.387

samples = 343
value = -1.199

X[31] <= 0.5
mse = 0.009
samples = 7

value = -1.725

X[21] <= -1.366
mse = 0.164
samples = 11
value = -1.388

X[21] <= -1.503
mse = 0.003
samples = 5

value = -1.777

X[19] <= -1.454
mse = 0.0

samples = 2
value = -1.588

mse = 0.0
samples = 1

value = -1.709

mse = 0.002
samples = 4

value = -1.799

mse = 0.0
samples = 1
value = -1.58

mse = 0.0
samples = 1

value = -1.603

X[11] <= 0.5
mse = 0.153
samples = 9

value = -1.276

X[22] <= 0.5
mse = 0.003
samples = 2

value = -1.782

mse = 0.071
samples = 7

value = -1.361

mse = 0.33
samples = 2

value = -0.964

mse = 0.0
samples = 1

value = -1.811

mse = 0.0
samples = 1

value = -1.693

X[13] <= 0.5
mse = 0.415

samples = 123
value = -1.088

X[18] <= 0.5
mse = 0.359

samples = 220
value = -1.265

X[21] <= -0.286
mse = 0.442

samples = 107
value = -1.05

X[15] <= 0.5
mse = 0.105
samples = 16
value = -1.385

mse = 0.401
samples = 84
value = -1.105

mse = 0.538
samples = 23
value = -0.865

mse = 0.087
samples = 15
value = -1.436

mse = 0.0
samples = 1

value = -0.874

X[21] <= 1.247
mse = 0.523
samples = 97
value = -1.151

X[19] <= 0.261
mse = 0.221

samples = 123
value = -1.348

mse = 0.673
samples = 62
value = -1.049

mse = 0.195
samples = 35
value = -1.338

mse = 0.069
samples = 23
value = -1.558

mse = 0.242
samples = 100
value = -1.302

X[21] <= 1.148
mse = 0.626

samples = 3612
value = -1.002

X[5] <= 0.5
mse = 0.47

samples = 1106
value = -1.104

X[19] <= 0.995
mse = 0.601

samples = 3600
value = -1.005

X[19] <= 1.149
mse = 7.8

samples = 12
value = -0.014

X[18] <= 0.5
mse = 0.566

samples = 3383
value = -1.015

X[21] <= 1.019
mse = 1.115

samples = 217
value = -0.841

mse = 0.651
samples = 1696
value = -0.973

mse = 0.478
samples = 1687
value = -1.058

mse = 3.896
samples = 24
value = -0.296

mse = 0.749
samples = 193
value = -0.905

mse = 0.0
samples = 1
value = 7.632

X[14] <= 0.5
mse = 0.553
samples = 11
value = -0.97

mse = 0.33
samples = 9

value = -1.224

mse = 0.023
samples = 2
value = 0.134

X[19] <= 1.605
mse = 0.346

samples = 428
value = -1.209

X[21] <= 1.675
mse = 0.54

samples = 678
value = -1.035

X[31] <= 0.5
mse = 0.396

samples = 184
value = -1.119

X[13] <= 0.5
mse = 0.303

samples = 244
value = -1.271

mse = 0.421
samples = 143
value = -1.067

mse = 0.261
samples = 41
value = -1.303

mse = 0.234
samples = 187
value = -1.347

mse = 0.449
samples = 57
value = -1.022

X[29] <= 0.5
mse = 0.378

samples = 361
value = -1.091

X[21] <= 1.872
mse = 0.715

samples = 317
value = -0.971

mse = 0.331
samples = 257
value = -1.17

mse = 0.438
samples = 104
value = -0.904

mse = 1.138
samples = 82
value = -0.759

mse = 0.546
samples = 235
value = -1.044

X[13] <= 0.5
mse = 2.951

samples = 277
value = -0.405

X[21] <= 1.11
mse = 1.945

samples = 409
value = -0.718

X[19] <= -1.426
mse = 2.38

samples = 228
value = -0.537

X[1] <= 0.5
mse = 5.139
samples = 49
value = 0.2

X[21] <= -1.429
mse = 7.928
samples = 9
value = 0.815

X[19] <= 0.011
mse = 2.14

samples = 219
value = -0.58

X[1] <= 0.5
mse = 4.294
samples = 7

value = -0.056

X[19] <= -1.428
mse = 3.33
samples = 2
value = 5.171

mse = 0.013
samples = 2

value = -1.318

mse = 5.392
samples = 5
value = 1.205

mse = 0.0
samples = 1
value = 6.996

mse = 0.0
samples = 1
value = 3.346

X[15] <= 0.5
mse = 1.827

samples = 189
value = -0.666

X[18] <= 0.5
mse = 3.652
samples = 30
value = -0.088

mse = 1.626
samples = 183
value = -0.704

mse = 7.359
samples = 6
value = 0.809

mse = 0.599
samples = 15
value = -0.935

mse = 5.235
samples = 15
value = 0.729

X[25] <= 0.5
mse = 8.789
samples = 3
value = 3.576

X[21] <= -0.017
mse = 3.656
samples = 46
value = -0.111

X[21] <= -0.25
mse = 0.512
samples = 2

value = -1.072

mse = -0.0
samples = 1
value = 5.435

mse = 0.0
samples = 1

value = -1.788

mse = 0.0
samples = 1

value = -0.357

X[30] <= 0.5
mse = 2.924
samples = 38
value = -0.516

X[21] <= 0.005
mse = 3.256
samples = 8
value = 1.536

mse = 3.598
samples = 26
value = -0.077

mse = 0.34
samples = 12
value = -1.414

mse = -0.0
samples = 1
value = 3.24

mse = 2.708
samples = 7
value = 0.685

X[19] <= 0.589
mse = 1.307

samples = 199
value = -0.972

X[19] <= 1.407
mse = 2.439

samples = 210
value = -0.473

X[10] <= 0.5
mse = 0.523
samples = 86
value = -1.13

X[19] <= 0.81
mse = 1.874

samples = 113
value = -0.851

X[13] <= 0.5
mse = 1.032
samples = 24
value = -0.851

X[19] <= 0.431
mse = 0.305
samples = 62
value = -1.228

mse = 0.496
samples = 18
value = -1.154

mse = 1.34
samples = 6
value = 0.36

mse = 0.173
samples = 36
value = -1.326

mse = 0.466
samples = 26
value = -1.085

X[21] <= 0.804
mse = 3.015
samples = 53
value = -0.532

X[25] <= 0.5
mse = 0.727
samples = 60
value = -1.127

mse = 2.705
samples = 50
value = -0.71

mse = 3.215
samples = 3
value = 0.891

mse = 0.392
samples = 43
value = -1.3

mse = 1.299
samples = 17
value = -0.696

X[1] <= 0.5
mse = 2.805
samples = 65
value = -0.024

X[21] <= 2.271
mse = 2.145

samples = 145
value = -0.673

X[21] <= 1.277
mse = 1.941
samples = 3
value = 2.673

X[21] <= 1.201
mse = 2.444
samples = 62
value = -0.168

mse = 0.0
samples = 1
value = 4.376

mse = 0.012
samples = 2
value = 1.537

mse = 3.446
samples = 14
value = 0.509

mse = 2.016
samples = 48
value = -0.351

X[9] <= 0.5
mse = 1.822

samples = 104
value = -0.791

X[27] <= 0.5
mse = 2.904
samples = 41
value = -0.343

mse = 0.35
samples = 48
value = -1.17

mse = 2.874
samples = 56
value = -0.461

mse = 0.988
samples = 33
value = -0.864

mse = 4.969
samples = 8
value = 1.884


